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QUESTION NO: 1

Hosting industry technical capabilities are often involved in cloud, M2M and big data.

A. TRUE

B. FALSE

ANSWER: A 

QUESTION NO: 2

As a virtualization component in the FusionSphere solution, FusionCompute can virtualize resources and manage virtual 
resource pools.

A. TRUE

B. FALSE

ANSWER: A 

QUESTION NO: 3

Which of the following belong to HUAWEI Cloud Computing 3+1 Solution? (Multiple Choice)

A. Desktop Cloud - FusionAccess

B. Big Data -Fusionlnsight

C. PaaS platform -FusionStage

D. Cloud OS - FusionSphere

E. Virtualization - FusionCompute

ANSWER: A B C D 

QUESTION NO: 4

Which of the following statements about the trunk port are TRUE? (Multiple Choice)

A. A trunk port belongs to a single VLAN

B. A trunk port can belong to multiple VLANs
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C. A trunk port is commonly used to connect user computers

D. A trunk port is commonly used to connect switches

ANSWER: B D 

QUESTION NO: 5

Which of the following belong to Cloud Solution on Scientific Research Industry? (Multiple Choice)

A. HPC as a Service

B. WORKSPACE

C. Public Cloud

D. BIGDATA

ANSWER: A B D 

QUESTION NO: 6

What's the three goals for Modern Education? (Multiple Choice)

A. Education for All

B. Lifelong Education

C. International Education

D. Self-learning

ANSWER: A B C 

QUESTION NO: 7

What alternatives are correct regarding subnet masks? (Multiple Choice)

A. The format of a subnet mask is the same as an IP address

B. Only routers are configured with subnet masks

C. Subnet masks are used to find out what addresses belong to one and the same IP network

D. The IP header carries information about the subnet mask

ANSWER: A C 
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QUESTION NO: 8

Which of the following sequence is correct process of OSPF route calculation?

a: Each router generates an ISA based on the network topology

b: Each router generates an SFT based on the collected LSAs

c: Each router forwards its LSA to all other routers on the network, and collects the LSAs

generated by other routers

d: Each router generates its LSDB

A. a-b-c-d

B. a-c-b-d

C. a-c-d-b

D. d-a-c-b

ANSWER: C 

QUESTION NO: 9

GSLB (global server load balancing) realize load balancing on different location in WAN by DNS redirect,

A. TRUE

B. FALSE

ANSWER: A 

QUESTION NO: 10

For non-local communication, the host will automatically search for the default gateway, and send the messages to the 
default gateway for transferring instead of directly sending to the destination host.

A. TRUE

B. FALSE

ANSWER: A 

QUESTION NO: 11

Middleware belongs to Software as a service(SaaS).
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A. TRUE

B. FALSE

ANSWER: B 

QUESTION NO: 12

Which of the following treats are because of Multi-tenant Security Threat? (Multiple Choice)

A. Network boundary is blurred

B. Multiple privileged users might exist

C. Malicious tenant threat

D. Data reuse risk

ANSWER: A C D 

QUESTION NO: 13

ICT enables education shift from Student-Centric to Teacher-Centric.

A. TRUE

B. FALSE

ANSWER: B 

QUESTION NO: 14

Database resource contains all system objects in SQL Server, Which is right about database

resource?

(Multiple Choice)

A. It can be query

B. It can be modified

C. Database resource is hidden

D. It is read-only

ANSWER: A C D 
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QUESTION NO: 15

Which of the following statements about advantages of area division on an OSPF network is FALSE?

A. Reduces the size of the LSDB

B. Reduces the complexity in running the SPF algorithm

C. Reduces the number of route entries in an area

D. Facilitates route summarization

ANSWER: C 
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